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Lecture 1

Exercise

Identify the type of each of the following sentences

a. statement b. question

c. command d. exclamation

1. How often do you come here? ( b)

2. How interesting this article is!

(d)

) Jaill 5 Caad 4adle o gl LY dpaad alas
Jeldl) aey

3. Hurry up before the train’s departure!

(c)

Counl alaadl oda Ky 1o Cagtil alaall o) Jaadl
e drna aleall gy dvsat ales

4. How interesting is this article? ( b))

5. This article is very interesting. (a)

Laslae (0 e > o idy

Exercise:

Identify whether the underlined verb is the main verb or the helping verb of each

sentence below.

a. main verb

b. helping verb

1. Students like fast food. (a)

bl Jad sa

2. He has enough money for the trip.

(a)

(&) Jxd a2 ¥ 4T ) Jnb s

3. Khaled does not want to go to school
today. (b)

(Y d2dl & want oY ) aelue Jad

4. He is helping me wash the dishes (a)

(2eboall Jaill sais ) (bl Jad

5. He will arrive shortly. (b)

(=¥ Jadll saarrive ) aclue J2d ga
oY
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Exercise:

Decide whether the underlined verbs are:

a. intransitive b. monotransitive c. ditransitive
1. The student needs apen. ( b ) g4 Jsrde o (g 5iad
2. Ali told his friend ajoke. ( ¢ ) 4 O s2de o (g gia
3. Students study. ( a) 4 dsmie o iy Y
4. Students study books. ( b) Al Jsada o (g giny
Lecture 2
Exercise

Identify the type of the underlined NP.

a. noun b. nominal group C. pronoun d. pronominal
group

1. The children went to bed late.(b ) 4anl de gana (I e 3 ke

2. I made this cake myself. ( ¢ ) Sl e 4 (1) e 2928
3. Ahmed owns an expensive car. (b) Aanl A8 gana A DS 3 e 3 ke

4. Khaled bought a book. ( a ) e

5. The bookis his. (¢ ) sandl AUl 4l jaa
6. Someone in our office forgot to lock saall Glaie jrea
the door. ( d )
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Exercise

Identify whether the underlined noun is:

a. a common noun (example of a

b. a common noun C. a proper noun

class) (generic)
1. Mohammed gave me apen. ( a ) 4l Je Jia ara aul
2. A pen is an instrument used for JSS sl Je Jla aza aul
writing. (b))
3. Khaled’'s carisnew. ( a ) 4l e Jla sz au

4. Khaled hasanewcar. ( c )

5. Fruit is good for you.

( b)

JSS aidll e JBa L ane ol

Exercise

Decide whether the following NPs can be followed by:

a. a singular verb | b. a plural verb

| c. both are possible

1. Ahmed’s young brother ( a )

> oy 2 ke anl - daal A

2. his family (c) aa anl - dilile

3. juice (a) Jgdra yé aml - juac

4. the company (c) aa> anl - 4S )

5. men (b)) s A - Js )
77\
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Lecture 3
Exercise

In the following phrases, decide which of the underlined words is:

a. the head

b. A post-modifier

c .A pre-modifier

1. a big store

(a)

(a- big) e alama Gy 0l 1) sa( store)

2. the store manager

(c)

18 Jas (store) ol » (Manager)
) 8y L) el 5 AT and e Jae

3. the leader of the group (b)

@ s (of the group) u+ Y s»(The leader)
Jaxall 13la 238 Ua s 23 Y the leader Jsé Laiad

Oz (ol 2N aas e Uae L

4. the group leader

(c)

dé ela Layl 5 Jadll sa(the) ol sa(Leader)
Gl Jane s 130 (Ll )

5. someone in my office (a)

Db 3l & 85 pasall a5 04l sa(Someone)
4 LS LS 5 o Jaxs o 5 (in my office ) Ls s
Gansi elans¥) b Qi 5 4pamy ¥ amay o jilanall Sale
L ALE Ve Gl e

Exercise:

Identify the type of the underlined determiner in the following sentences

a. article | b. demonstrative c. possessive |  d. quantifier
1. This exercise is easy. (b) (e (EXErcise) I ol (this) 4els
2. Their friend is here.  (c¢) (peisra) (ol el A8k Aapa

3. The visitor came early. (a)

iy =i 8l 4 (the)

4. Many people watch the show
every week. (d)

o 1) ¢ L dieS e oS8 Like | ( Many ) 4l
__4\7\&\3.3.‘;“

5. These sentences are interesting.

(b)

Oz al (Mo LS & (These)
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Exercise:

Choose the appropriate pronoun: — «wlidl jaxll jlal

1. 15t person plural pronoun Js) <k sy aen paa

a.he Db.we c.they d.you

2. 3" person singular masculine pronoun &b s yh &y 3 8y
a.they b.it c.you d.he

3. 2" person singular pronoun Sl < lall 8 adg 2 i e

a.you b.l c.we d.she

Lecture 4

< Exercis

What is the form of the finite verb in each sentence?

a. base form rd _ C. past form
b. 3 person singular form

(€)

1. The manager talked to the employees.
Jaill b (ed) 25a sl alall (o) b 2 s talked s Jadl

(b)

) 2. He drinks coffee every morning.
Laayl 5 (S) 2oadl &l Gaplall Aadle 3 ga g Jaa3l 5 drinks s Jadll
3 e i Ciyha @ g Jadll of Laadls

3. Ahmed and Khaled usually study together. @)

Adle 4320 5 Y Loy 5 (ed) 4 25 ¥ 4if 1235 5 study s Jadl
(S) 2l il Ca Ll

(€)

4. | went to the mall yesterday.
¥ Jadll e oalall dana a5 "alaiie ye Jad " went s Jadl
go

(b)

5. At eight o’clock every morning, my father goes to work.
4l¢ es Luxl goes << go 2 dall A Capkall JS5 g8 5 goes sa Jadll
Jaall
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Exercise

Decide whether the underlined verbs are:

a. finite

b. non-finite

1. He was able to walk after physical
therapy. (b)

b anall G Jadll sty ol Jeldll s e
.:.1\

2. He is making a chair out of wood. (b)

& making =il of Jaadt Jeldll i s )
MNaa 2" 4 13 ga LS

3. He made a chair yesterday in his
workshop. (a)

Gy Jadll 325 28 Slad 4] Jaa D Jadll i Wy s 1)
- o Jadllé (e 3l U e 131 a3l

4. You should spend more time
studying. (b)

Y spend dadll of Laadlis Jelall i Uy 13)
sauxiliary model" s els 4¥ dald ey
s spend J=ill s (should) 2 5 b rie Jad

Naa );n’:"

5. They spend time together every
Thursday morning. (a)

Aaa g 1A Jall juaiied Jelal) Gl 13)

~
\
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LectureS
Exercise
Choose the correct order for each verbal group  zessall a5l sl

1. a. have seen could b. could seen have

c. could have seen d. seen could have
OV ) oY sl ) Lal L (b, €) of Las s il JiaY) o2 8 Modal J e i

(Past Participle) <~ "seen" L b. could seen have
«(Past Participle) J# i " have" cb W@ Sxls- " have" s c. could have seen

2. a. have should been doing b. doing should have been

c. have been should doing d. should have been doing ‘
(d. should have been doing) s& 4ilx & "Modal" (e s siss Al aa ol Gl sl o a3l

3. a._has been studying b. studying has been

c. been studying has d. studying been has )
(Have +Past Participle) s s 4l & 23y Ul g 5l (e Gain 13« Modal Wl aa 50 Y

(a. has been studying) LWV & lalaa 4 ¢ (has) s " Have" Jéal 1 i
Exercise
Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)

c. Type 3 (be +present participle) d. Type 4 (be +past participle)

1. The machine was fixed.(d) Jsexall Sl o) (Passive voice) J e Jba 12a
2. He can fix any machine. (a) 130 ¢ (dapusal) dinall) asbisl) Jaill dapcy U ola "fix"
s g sl e Jlie 13

3. He is fixing the machine. (c) 5 (progressive aspect) ) e Jbia 134 13)
Al ¢ il

4. He has fixed the machine. (b) Sl g 5 s s (perfect aspect) ) e Jlie 13 13
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Exercise

Decide whether the underlined verb is:

a. a main verb
operator

b. a helping verb operator

C. not an operator

1. They do not come here often. (b))

sclus Jad 545 (Operator - dee) saDo
& adaall delua Jand "not" saxs ela

(The main verb - LY J=dl) 2 come

2. | have not seen this movie yet.( b)

aclua Jad g8 5 (Operator - Je\e) saHave
S adaall delia Jaad "NOt" s2xs ela

(The main verb - L) J2dll) 2 seen

3. Do you have a copy of the movie.

(c)

The -xeludl ddll s "Do" I3

alaall Lol A sleadiul 5 (helpingverb
) Jpudl U
(operator - dsle) S L 22350 &1 "have"
ool (i ela 18 () o) e luid

4. Heis not here. (a)

s 5(The main verb -l Jadl) sls
dans il aial 5 ¢ ((operator - dale)
"is" (operator - Jle) I} 22; "not"

5. He isn’t going, is he? (b)

s «(operator - dele) 4 5aclue J2é sajs
"is" 2o luall Jadll alasiuly A gl J) g Liial

Lecture 6
Exercise
Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function
1. pronominal group (a) sehaall o (g)) dapall aul A 4 el de gendll
QAZLJA;A}‘—MMJ\EJM\"Q)@_ES‘;“\
" LX)
2. indirect object (b) (NP) 4sasd o e ()5S e llle 5 caislas s
3. complement (b) oobe o) 4alladidy o Ji GlalSll guall (e
b)sé }i
4. subject (b) (NP) aaesd e o5l lille 5 caiidas s
5. noun phrase (a) Lo & el 5 L)
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Exercise

Choose the correct function for the underlined NPs:

a. Subject | b. Object

c.Complement | d. Appositive

1. His father gave him some important
advice. (b)

b s Jsnde sp Sl Gl 540 Jprie 2

2. Ahmed’s uncle lives in Riyadh. (a)

dcuj\@,a_)m\zﬂs‘;a

3. Ahmed’s uncle is a successful
busnessman. (c)

) m‘ Allal) o2a ‘f M"iS" A ﬂ& ‘;‘ CU;.}
Aoy o)\._\a.“

4. Khaled has a lot of books in his
room. (b)

Jaxi Lld o iy Sl dgansl o sl Ll IS
ol G al J gmaeS

5. The teacher gave the students
exercises. (b)

e st 4 d i 5 (gave) Jadll 4 Jsrie

6. My brother Saleh studies at King
Faisal University. (d)

) 2 ela il u“g ((J) oo il Ja shaadl) o)
MY\@;JJHL;J\UM\?QGJ;J}H}A}{A\
"Y1 Al i 51" AY)

7. The manager found him a hard
working employee. (c)

4 Jeddl a4 o Jy 4o Jsrie

~
\
\
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Lecture 7

«» Exercise

Decide whether the appositive in the following sentences is restrictive or non-

restrictive:

a. restrictive

b. non-restrictive

1. The shopkeeper Othman is a hard
working man. (a)

e gil B yaiy Jgha e alald il

2. Dr. Omar, my Linguistics professor,
published a book. (b))

e i Cajats Jall aayg U8 4lald L a g

3. Majid and Saleh, my cousins, will
visit us tomorrow. (b)

e s 3 G s Ol Sy 0 ALals 3 La g

<+ Exercise

Choose the meaning expressed by the Prepositional Phrase in the following

sentences:

a. place b. time

C. manner d. instrument

1. My office is located on Riyadh
Road. (a)

OSa sl el il (e

2. He graduated college with a good s Lia

GPA. (c)

3. He fixed the door with a hammer. Gl Z3laY 48 jladll aasiu
(d) Blal & Jal

4. They will visit us on Monday.( b)

Gy sl g 43) aadally Y o gy Lig ) S

5. The artist finished the sculpture with
great talent. (c)

A gaiall gl dadae L gay
Lo il Al a0 3

3
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Exercise

Choose the correct function for the underlined PP.

a. complement of b. complement of
subject+BE an adjective

d. post-modifier in
an NP

c. adjunct

1. We finished our exam in 2 hours.(c)

Cela Ll S cagila j 4dy 5k 4 in 2 hours
EU o Ay )5 pa e adlis) A slaaS

2.We visited the big shop in the mall.
(d)

O s Gl oo in the mall Al s3a &
Aalay Wil gl ) anal) JLaSY o jlall 028 dalay
)ﬂd\&@u|u}bh§hﬂww\ sda
o_ball (gamy Jara (oa cundl 13gd ¢ (sl
(the big shop) 4!

3. Mohammed is fluent in English.(b)

3 ((Mohammed is fluent?) :Ja Laxie
c?c\_)mé 9 Jala ‘55 L..s\?cf‘dé E%) é;xs :d;hﬁ'j
2l JWSY "in English” zlisié

4. Ahmed was in his uncle’s house.(a)

+ Jeldll aleSs 24 in his uncle’s house
435S J=8

5. Ahmed’s uncle has a big TV in his
house. (c)

4ailia) 4a slae L3 i 2 (in his house)
Ak g aleall b nall JUSY 4 )5 0 s
4l b @b a )yl Jlalls jle
aila

Lecture 8

% Exercise

Decide whether the underlined adjective can be used only attributively, only

predicatively or both.

a. only attributively

b. only predicatively

c. both

1. He is a smart student.( c)

S Lgalassia USMX\UA smart 4.8
predicatively s Attributively

2. The child is asleep. (b)

A Y] i Y (asleep) Al
predicatively Y4 sl predicate

3. One of the main causes of lung
cancer is smoking. (a)

" Attributively" ©els (main) 4.l

4. Are you afraid of the dark? (b)

A el afraid 4l o Lad
predicate » 13 (are) 2 predicate

5. This runner is fast. (¢ )

w—,—@uwrm:m:mmw v

14

< (fast) 4l alaiiu) (Sadl (g
Attributively s predicatively

e - ol MAWRID.NET




Exercise

Identify the function of each of the underlined adjective phrases below.

b. modifier in
NP

a. complement alsill

c. head of NP

1. The driver responsible for the
accident paid the fine. (b)

ol sans Jase & 5 4ia o responsible

.(driver)
3 jlall Jans 43) Wl 13 Wl 50 58 The driver
(he) = Aaau¥ 3 jlad) Jlaiu) WSy 4y fhpany)

2. The driver was careless. (a)

La bl Jad 2 543580 Jad was
aleSe Cela Ld 544 & careless
¢ daall ¢4 5 The driver was :J &l LiSa Y-
Aleall Jre JoS3 age a3 a5 (Careless) Aelsi

3. He is a careless driver.

(b)

a ) “eu¥l 3kl (10 ¢ a2 careless
ol 8 Jasse 545 (careless driver
.(driver)

4. The police found the driver guilty. (a)

The police found the : Jsi o) audaivi ¥
Allay) A el inall ariss I U g1 45Y cdriver
gl OIS Gl o ol "Gl aa 5 oyl maas
c.ﬁb&dhag;\a\ﬂ\ ?u.d \45.\;}&5&)&”}
il s Ll o ) oyl o s Aleal)
CAleal) e JLSY dage o (guilty) delss 1)

5. The elderly must be respected. (c)

& Sl Q) (g 2l 4ia (4 (elderly)ials
Lia

2
o

g
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Lecture 9

Exercise
Identify the form of the underlined adverbials.
a.NP b. PP c. finite c. non-finite clause
. . . . . clause . .
w‘ﬁ\&d\m );“A_QJ);A_Q)L aA}.A;A)..}:-‘ﬂA;
3adaa dlaa
1. He visited me in my house.(b) A <a |n

2. He is studying to pass the exam.

(d)

O Baa LB | (5 )3ae Jelb To pass
padaa e (sSE Laily jaliadl)

3. Ali has an exam this morning. ( ¢ )

el 38 jaa A Lae L (NP)

4. | will give you my homework after
it is done. (c)

—b_)\..\c)‘f jw‘)l\z\ﬁ_)au‘f\.msw
(clause

5. They walked together, smiling
widely. (d)

(Non-finite clause — saxse e 3 5l )

Exercise

Choose the type of the underlined adverbials.

a.adverbial of
frequency

DSk

b.adverbial of
degree

Aa il eyl

c.adverbial of
manner

Jall Gk

d. adverbial of
relative time

1. He always drinks tea in the morning. (a)

2. The climbers barely made it to the top of the mountain. (b))

3. He finished the exam quickly. (¢)

4. My friends just arrived from their trip. (d)

5. They bravely climbed the mountain. (c)

Ny
N\
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Exercise

Identify the function of each of the underlined adverbials.

a. adjunct el 324 )

b. object Js=idll

c. complement dleal ALSs

d. modifier —ual

1. Are you absolutely sure? (d)

oIl 8 54ia sure
"oal O i Jaa g8 5l ) s absolutely
."sure

2. The child followed his father very
closely. (a)

ae Lty oSa 5 &5 8 very closely

3. He told him when to come. (b)

il 4 J 2 When

4. The show ended very quickly. (d)

il L8 Jane 585 sk ) Js very

5. Itwas all right. (¢ )

Aada g 1)) ¢ Alaall Jine Sy a5 <)k all right
(ALeSa) oo Lin 4kl

Lecture 10

Exercise

Which of the underlined elements is NOTa necessary element of the following
clauses? If all elements are necessary, then choose “d”.
V) Jaall L lage | peaic ey ¥ Jad Lgind ) jealiall (4 (4

a. (1) b. (2)

c. (3)

d. all elements are necessary

1. He was in my home yesterday. (c)

@) 5 s lYesterday

@) @ 3)
2. Maha is a good student. (d) R
(C ) 3)
3. The angry man waited impatiently. (a) AalS] aldaa a5 -4da) g LES) angry
1 @ © ("man”

f
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Exercise
Identify the basic clause structure type for each of the following simple

sentences.
A8 Uasd) Jonll e IS Jaad) sl i) £ 5l e

a.BE+C b. Vi+ dO c. Vt +i0 +dO d. Vvt +dO +C

1. Faisal wrote a book. (b)

2. He is a good writer. (a)
s S
3. He gave me the book. (c)

4. | found the book interesting. (d)
LB sdie QUS)) Caaa 5 L

5.The book is in my library. (a)
(hiSa & )

Lecture 11
[1Exercise
Choose the type of conjunction in the sentences below:
A8V Jaall A Calaall Cija g 55 il

a. Coordinating Conjunction b. Correlative Coordinating
Gl (3 ja Conjunction
poNa Gudi (o s

1. My brother and sister went to Dammam. (a)
ekl ) ) gy sy al

2. They are both polite and friendly. (b)
LaadS Glasay 5 hase L

3. I not only like swimming but also diving. (b)
o gl Loadl o1y daload) caalf Jasd il U

4. | like swimming but not diving. (a)
el pul (K1 dabud) sl U
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Exercise
Decide whether the following sentences are:

a. simple sentences b. compound sentences
1. My neighbor and his family are going Ay Jad 5aaly Jeld
on atrip. (a)
Als ) (S8 Gl adlile 5 g )l
2. My neighbor is going on a trip but | " sas (<ehe caja) Ly shaly olidasi ya o)l i

his family are not going with him. "but
b

9l ) g ailile gfﬂ)ﬁajgégalhg)g
Aza

3. Either I lost my wallet or someone Ay (Cabe Caja) day yslaly glikasi e o) 3
stole it. (b) "or"
L8yl Jiladae i Ll Ll

4. The wallet was either lost or stolen. (a) J=d (e S8 5 aalg Jeld
iy gl Caelia La) ddadadll

Exercise
Decide whether the subject in the second clause is:

a. Optional (can be deleted) b. Obligatory (cannot be deleted)
(433 (Say) s LA (433 (SaY) s k)

1. My neighbor is going on a trip Laaaal Cada oSy Vg lalisg
and his family are going with him
too. (b)

Ll dne 0 aald alile 5 da ) 3 cald g la

2. My neighbor is going on a trip Laaaal cada (Say 5 Olebiiia
and he will take his family with
him. (a)

Are Ailile 22l Cagu g dla ) 6 caald 5l

3. Sara will study hard for the Laaaal Cada Sy 5 (jleoliia
exam, and she will try to get
high grades. (a)

OF Jslat Caan a5, JUERS Ly S 0l
Adle cla e Juans

4. Sara will study hard for the Laaaal Cada (S Y5 olalisg
exam, and Maha will do the
same. (b)

L Jial Jadin Lea s, USRS daay SN &l Ve

DY

0

i

&
x 5
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Lecture 12

Exercise
Decide whether the underlined clause is:
a. dependent b. independent
AT (Alaiel) Axls
1. It was obvious to everyone that | "that he wanted to leave":J si o) akiwi ¥

he wanted to leave. (b)
b of 3 4l paeall al gl (e S

M\A}SJ:\SA):\Q:\JA;@@L@-&M\WJ
tdoaldic) dlaa 28 13)

2. He wanted to leave and this was
obvious to everyone. (a)

el izl 5 13 S5 ey o o))l s

<& 5 "He wanted to leave":Js& ol aekiu
Al s ke Alen e LY Alaall

3. My friends came to visit me when |
was in Dammam. (b)
Al & S Ul Laxie 503 el Ava

when | was in ":Jsi of gekivs ¥
o Ales maain LY Alaall e 5 "Dammam
aldic) ddan & 13) all g 320

4. My friends came to visit me, but |

=& 5"l was in Dammam ":dss o gk

was in Dammam. (a) Aali 5 3ake Alen enaios LY dlaal)
aleall & S Ul oy 53 ela ia
Exercise
What is the function of the underlined clause?
¢ b Lot boa Lgind Alea S e L
a. subject b. object c. complement d.
Jeld U szia PP PARS appositive
Ju

1. The fact is that no one could do it. (c)
Lelad plain) aaf an o Y 4dl 4 d3gal)

that no one coqld do it
‘?j o8 \Ad);} u‘){ ¢ 4184

inall JLSY dleall
2. What he discovered was important for science. (a) What he discovered
astell Laga (1S adzisi L Jeld

3. The fact that no one could do it disappointed me.

(d)
il Lelad plainf aaf ¥ f ddda

that no one could do it
(denl ddan) Ju

4. Everyone knows that he made a great discovery .

that he made a great

(b)

" Jaill J 240 discovery
"knows

5. The workers rely on what the manager has to say.

what the manager has

(b)
ol i Lo e () paciay Culalall

sl e sl J =i to say
(on)
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Lecture 13

Exercise

Which of the subordinate clauses in each of the following sentences is a

relative clause?

¥4 yom 3o s ying A1 Aadil Jand g

a. relative clause Agase ddaa

a. not arelative clause
dpage b ddan

1. The machine which makes plastic

bottles is broken.(a)

okl asa s oY dleall o3a g eliaiul) (Say
(Aaal) ina (et Y Walidds 13) (1)

2. The manager is upset about what
the worker told him.(b)

@) basa s (¥ Aleall oda o elixind) Say Y
(el ina (e i W3S 13) )

3. The problem is that he didn’t oil
the machine.(b)

o) basa s Y Aleall o (e eliniul) oS Y
(el ina (e i Wlds 13) )

4. The worker that forgot to oil the
machine is speaking with the
manager.(a)

ksl s s oY the dleall o2 g el (S
(Aeal) e (e Y Laliads 1) (g)

5. They called a technician who
could fix the machine. (a)

k) asa s oY dleall a2 (e eliniul) (Say
(Alea) ine e (il Y lalidda 13) )

A
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